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+��!��� � ��� �
�����, $
���
 � � 
 	����������
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7.07�7.007�7.707�7�7.7 � 
���	���
� �
 �	�2���
 !

" ������
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���
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�����, %��
 ����
 � � 
	������ �
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 ��� ���� ��
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x + y = 3

y + z = 5

x + z = 4.
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 ���
����

2x + 2y + 2z = 12/ : 2

x + y + z = 6,


 �
 ���

x = 6 − (y + z) = 6 − 5 = 1,

y = 6 − (x + z) = 6 − 4 = 2,

z = 6 − (x + y) = 6 − 3 = 3.

�����
 �� ��� ��� �� 
 � 
 �� �����
� ������!
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 �	
 ��
 � � 20 �� 2�

28 �� 2 �35 �� 2!+
������ 
���
 � �	
 ��
 >

ab = 20

ac = 28

bc = 35
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 ���
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 � 

������� �
 �����3

�� f (x) = ax2 + bx + c

�� f (x) = a(x − x0)2 + y0

�� f (x) = a(x − x1)(x − x2)!

%
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=
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a − b + c = 0

4a + 2b + c = 0

4ac − b2

4a
= 3.

1����� �� 
 � � ���� �
���������� �������
�� � 
 �
 �
���
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 � ���
 ����
 ��x0 =
1
2
� 
 �
 ��� � � 
� 
2��

����
� �
 � �� 
 �
�����
��������a!

������2��� ��� ��� � � 
 ��
 � 
� 
���
 	�������� 3

�
�
�
� �, �
�
 ����
 � � �
���� A(2, 1)�B(3, 4) �
C(5, 10) �
����
 ���!

=
 �
 �
 � � � � 
��� ����������
 	���� �
 ����
 !

�� |AB| + |BC| = |AC|
�� P�ABC = 0

�� 1 
 2������
 ����� � �
 	�
 ��
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���� � 
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��
−→
AB = k

−→
AC
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 %%!�
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 ��� ��� ���
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�� �

����
 �� (x, x)�
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��
 (x,−x)�x = 4!: ��2��
����
 �� �
���� � 
�
	��� ��
���
 ! :
 �� � �
 	
�����
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���� 
 �����
 � ��� ���
� 45◦!$��� ���
� ��������
�� �
 �
 �� x = 4�
 �
 ��� �� �
 �
 ���
 ����
 ��� 
	������!

�
�
�
� �3������� �
 �	��� ����
 ��
 ����
 �� 25 �� !
� ������������ ���	���� ����
	
� � ��� ���
 
 �
 � � ��

� 
��� �������
 ����15 �� �20 �� !

4�2���
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 ��
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��
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 ��� �� � 
����


� 
 � � 
����� � ������� 
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 � ��
  

���
 � 
 15�20 �25 �� !�
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��� ���
 � 
��� ��
�
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 �
 �������� �
 �������� �!����� 
 	
 ���� � �� �
 	


x2 + r2 = 152

(25 − x)2 + r2 = 202,

���� ���
 � 
	������ ��
���
 ��
� ���
 ���
� 0 ��
�
	�

�
�� ��� ��
�� ��� P =
av
2
!

% �
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 ����
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 ��� �
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 � �
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�
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 � ��
�
 � 3 � 
 �
 ���
 �� 240 � �
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 2�� � �
��	
�
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 � �
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�
 � 5
� 
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�
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2n 3h 240

3n 5h x
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2n · 3h = 240/ : 6

nh = 40

3n · 5h = x

15nh = x

x = 15 · 40 = 600.
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1. �
 ���� (4 + 2)x = 6

6x = 6

x = 1
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2. �
 ���� 4x + 2x = 6/ : 2

2x + 1x = 3

2x + 1 = 3

2x = 2

x = 1

3. �
 ���� 2 · 2x + 2x = 6

3 · 2x = 6

2x = 2

x = 1

4. �
 ���� x√4x + 2x = x√6
x√4x + x√2x = x√6

4 + 2 = x√6

6x = x√6x = 6

x = 1

5. �
 ���� 4x + 2x = 6/ log

log 4x + log 2x = log 6

x · log 4 + x · log 2 = log 6

x(log 4 + log 2) = log 6

x · log 6 = log 6

x = 1
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